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10-STD
FIRST REVIS
H;T?-Ibs‘ TEST - 2024 Marks: 100
Time: 3,00 hours
. ' PART- I (Marks - 14
Nate: E;EHHHA“ tlie 14 questions )
hoose the most sujrs
ble answer from
code with |he corresponding answers. Eiven the four alternatives m:li_:r:li llh: option
L Letnd)=m )
=mand n(B) =
- mMB)=n then the total number of non-empty relations that ean be defined from
A L]
2 :] . Bl (©) 271 (D) 2+
- A=[a b _
(M_{; P} LE 2,3},C={p.q, r,s) then; "rl.(" UC)x gﬂ]h
3. Using Euclid's diyiy; ks 9 2 p
: vision I‘“l.ﬂ'ln. il the cube of any F'ﬂli-‘i"l': msn' 15 divaded! h}" 9 then the .
possible remainders are
(4) 0.1,8 (B) 1,4,8 © 0,1.3 () 1,3.5
3
4. The next term of the sequence P ]1:.-'%._45
| [ 2
(W) 3 ®) © 3 (D) 5-
5. If(x—6) is the HCF of F=2-24and £~ kx—6 then the valuc of & is
(A) 3 (B) 5 () 6 (D) 8
6. The solution ul‘(h—l]:zﬂ is equal (o
(A) -1 (B) 2 ) -1,2 (D) Nonc of these
7. IMnumber of columns and rows are not equal in 2 matrix then it is said to be a
(A) diagonal matrix (B) reclangular matrix

8. In figweCPand CO are tangents to a circle with centre at 0. ARB is another tangent louching
the circle al B, If CP=11cm und BC=Tem, then the length of BR is

(D) 90°

(A) 80° (B) 85°
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staicral (s a trapezium, it 18 pecessary io S
g et paralle] and 1NG roRpafitRel sides.

49 When
(A) Two sides are parleL (B) Twos
) Oppasitc sides ¢ bel. (D) Al sides are of equal length.
i ;:-nmﬂ and J.gl.,iﬂﬂ then
.ll J’x }.l I: J'I .‘l': _

1
O
pase of & cone is mipled and the height is doubled then the volume is

I the radius of the
(C)made 12times (D) unchanged

" (A) madc 6 times (B) made 18 times
2. The patio of Lhe volumes of a cone, 3 cylinder and a sphere, if each has the same diametcr aid
same beight is
(A) 1:2:3 ®) 2:1:3 (© 1:3:2 M 3:1:2
13. The Range of the data 8, 8, 8, 88.....80
(A)0 (B)1 (C)8 (D)3
W, Twosice e rolled togelhet Find the probability of getting a sum of faces as prime number.
“""'li ® % “'-'1% () %

PART - 11 (Marks - 20)
Note: Answer TEN questions. Question Number 28 is compulsory.

15. Represciit the function £ ={(1,2), (2 2)(3.2)(+,. 2)(5. 1)} twough
(i) a table fonm (ii) an arrow diagram

16, Find the domain of the function f( x)= Ji+ ,H[- Jig -

1. Find the least number that is divisible by ihe first ten natural numbers,
L OIf P42+ 4.+ 8 =44100, then find 1+243+ ... +k

#

10x2=20

Y+ p-12 3
5. Simplify:- rp-lz, {H -
p-4 p=¥

5 2
L IfA=|-1T 07
g3

o

, then prove that (A’)r =4

- ) m g

1.1 a and § are the rools of the equation 3 - Gx-+4 =0, find the value of @’ +fi?
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e Tinwre, A1 bn the hivector of 24, 1EMY =4 om; DC 3o ad AN =6 o, find AC

P T

A% Theventiconal A e wa'd(2, 1), A0, =1 )and(4 10 Vool ie wgntion of the stinkht o
longs the nttitwdo fom o vettox o, \ 2

01"

28, Findd tho dlameter of n sphiore whise sinlace Bea bs 15w\

1, 'nve thal -lﬂ-!!"l" II'H" \
ol?

26, The 1atho of the volumes of two cones I 210 FImd e oo of b imdis 18w Bebght of secoml
cone Is donhle the holght of the s, V!

27, An integer (v chonen ol mmdom o © lo VOO Vind the probability it the minibers 1s piting
wjuare,

B, Vi the slope aid v ntorvept of Ju (1 J.'i)v- \

AW N (Marke - S
Noker Anwwer TEN quesitons, Questiun Nuwher 42 b compubiory. k=M

19, Given - LA M 0] 208 O L) wnt D=1 S ek il
(ANC)<(ANDY (A NC=D) I e

30, Find b g () f( ) piven F(0) Dot and g(v) o

AL The s of D ot o, 2 o e et ol on AT me 8, 8y oot Syoenpectively. Frove
S (8- )

A2, Fundd the s 10 1 tetine ul'llwsr;'.n FRATRILERE

0, There ate 12 pleces of five, ten and twenty mipee currencies whose total valie b 08, When test ?
soits are futerchanged o thele numbers s value will be mcreased by 200 Vand the mamber of
eutrencies i cach st

M, Finad the sqgume oot of - 12047 PORY - IR 0 20000 1

AL [: i} wl [: t_:]“lf:ll.ﬂlm'ﬁ'“““(fl ny <At

6, Site and prove Pythagoris theorem

3700 (v, v)  is any pont on the line segment joining the points (o, 0) aml (0, h) hen prove tha

vy
' I, where 4 hat)

a h
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18, From the top ofn 12m high building, the angle of clevation of the top of a cable tower is 60° and

the angle of depression of its fool is 30°, Determine the height of the tower, ¢

)
39. At industrial metallic bucket is in the shape of the frustum of a right circular cone whose 1op and

bottom diameters nIe 10 m and 4 m and whose height is 4 m. find the curved and total surface area
of the bucket.”7 g"'

. 2 .
40, A hemispherical bow! of radius 30 e is filled with soap paste, IF this pasic is made into cylindrical
sonp cakes cach of radius 5 cm and hieight 2 em, how many cakes do we get? 5.

41, The time taken (in minutes) lo complete a homewaork by 8 students in a day

- ; are piven b
44, 46, 43, 49, 53. Find the cocfTicien! of variation. ) y 38,40, 47,

el
&

42. Find the Eq"“[":'"\:’r“ 5""."9]" |'“:’I fhrough the point of intersection of the lines Rr+3y=|8,
4x+5y-9=0 and bisecting the line segmeny jolning the points (51 N *1)an|:|[-—‘.-' ﬁ} \.

PART - IV (Marks- 16)

Note: Answer both questions. 12x8=16
43.(A), Construct =~ APER in which PO=8cm, /R=60"and the median RC from R 10 PQ is
5.8 em. Find the length althe allitwde from £ 10 PO

OR

(B). Draw the two tangents from o point which is 10 cm away from the centre of a cirele of radius
5 cm. Also, measure the lengths of the tangents.

44, (A). Nishanth is the winner in a Marathon race of 12 ki distance. He ran at the uniform speed of
12 kin/lir and reached the destmation in | hour, He was followed by Aradhana, Ponmozhi, Jeyanth,
Sathyn and Swetha with their respective speed of & kmvhr, 4 kmvhe, 3 ki/hr and 2 km/hr, And,
they covered the distance in 2 hrs, 3 hrs, 4 hrs aind 6 howrs respectively.

Draw the speed-time graph and use it ta find the time taken to Kaushik with his speed of
2.4 knvhr, | /

- e

(B), Draw the graph ol 3 = ¢ <4y +3 uml"lnr:m:e find the rools of & —6x+9=0.

OR
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